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Elective Course : Commerce
ECO-07 : ELEMENTS OF STATISTICS

Time : 2 Hours Maximum Marks : 50
Weightage : 70%

Note : Answer any five questions. All questions
carry equal marks. Simple calculator 1is

allowed.

1. What are the functions of Statistics ? Discuss.

10

2. What are the advantages and disadvantages of

secondary data ? 5+5

3. (a) Explain in brief the convenience and

judgement sampling methods. 5

(b) Discuss the significance of Tabulation. 5

P.T.O.
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4. Write short notes on any ¢
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wo of the following :
5+5

(a) Schedule method of data collection

(b) Multiple bar diagram

(c) Statistical survey

Calculate the median from the following data :

10
Marks No. of Students
0—10 4
10—20 6
20—30 20
30—40 10
40—50 7
50—60 3
Draw a pie diagram to represent the

information pertaining to a family’s average

expenditure : 10
Particulars Amount ) per day
Food 800
Clothing 200
Rent 300
Other expenses 500
Total 1,800
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7. Compute Karl Pearson’s coefficient of skewness

from the following data : 10
Classes Frequency
30—33 2
33—36 4
36—39 26
39—42 47
42—45 15
45—48 6

Additional information :

(a) Arithmetic mean is 40.11.
(b) Standard deviation is 2.96.
(c) Model class 1s 39—42.

8. (a) Calculate the standard deviation from the

following information : 5
n = 450
>fd’ = 261
>fd2 = 2095

c =250.

P.T.O.
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(b) Calculate combined standard deviation

when : 5
n =950
n, =40
X, =72
X, =54
61 =9
G, =6
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4. frfafed 5 9 fodl @t W dfara A fafed -

5+5
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5. frefafaa siwsl 9 it &t oM HifST

10
0—10 4
10—20 6
20—30 20
30—40 10
40—50 7
50—60 3




[7] ECO-07

6. T URER & gd @l 9 wefed sl i

WA & o T gaRE T 10
P LN VECE]
(% vfa fa=1)

LGl 800
CEY| 200
R 300
CERCE] 500

Tyl 1,800

7. Frefafaa siesi @ #ed foags w1 9u= ns

I hITST 10
& gt
30—33 2
33—36 4
36—39 26
39—42 47
42—45 15
45—A48 6
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stfafaa 'HEHT@ :
() THNR WA 40.11 2l
(@) AFs fa=er 2.96 2
(M) ygfrssss =it 39-42 |
8. (&) fFmfafead = ¥ #F& fo=wem @
HIFST : 5

n = 450
>fd' = 261

>fd'? = 2095

c =250

(@) §gK WM foa=e Ad ifST 59 ;5

mn =50

n, =40

X, =72

X, =54

61 =9

G, =6

qen X, = 64 2l
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